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SECTION - B 

1.  Let A be an invertible symmetric matrix, prove that   11   AA
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2. Without expanding , show that :    0
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4. If 02cos  , find
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5. If  x= -9 is a root of 0
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6. Prove that  3
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SECTION - C 

7. Show that 3
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8. If none of cba ,, is zero, show that
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10. Prove that 
222

22

22

yzxxyzzxy

xyzzxyyzx

zxyyzxxyz







 is divisible by (x + y + z) and hence find 

its quotient. 
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12.  In a triangle ABC, prove that triangle ABC is an isosceles triangle if 
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Then prove that ABC  is an isosceles triangle . 

 

 

13.  Solve for x : 
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14.  Solve for x : 
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15.  Prove that 0
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17.  Prove that 
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18. If ,
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19. Solve the following system of equations using matrix method: 
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20. If 
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linear equations: 
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